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(1) TEHg

(2) Tikel®

(3) I "R SFATEn

4) 3T

e Y= w1 8 ?
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(2) T T IHh 1 &l YT hrgehl b T TATH

(3) UH WA el & & T Wi &l qf a1 31Ei &
oY GAIq

(4) Jm GoRA IR BrEeRE

UTedl g W18 1 TR fefiRad § & TR w9 §

BT 8 ?

(1) Yod a

(2) wE

(3) Wi

(4) itk 3 %BH ST

fFrafafaa @ @ SHE-a1 a8 SRRt 4 hifa a9

T & e St @ 2

(1) wiefeEm

(2) wifem

(3) wifIEm

(4) hfcarm

F=ffied @ @ 991 9ew Ty il TH I b qY

TE fehe wrerg guiian |, o g ot ueh-ga % fo

ITIAT Sftaq =5k Ul 7gT e Hehal ?

(1) e
(2)  gFHr
(3) &rEiger
(4) FrEeT

T HUT HT Tgd W ANl % A g ArsgoM H fRw
YA 9T HUSHOT fohaT ST Tehd & 2

(1) -196°C
(2) -80°C

(3) -120°C
(4) -160°C

What is the role of NAD' in cellular

respiration ?

(1) TItis a nucleotide source for ATP synthesis.

(2) It functions as an electron carrier.

(3) It functions as an enzyme.

(4) It is the final electron acceptor for anaerobic
respiration.

Oxygen is not produced during photosynthesis by

(1) Cycas

(2) Nostoc

(8) Green sulphur bacteria
(4) Chara

Double fertilization is
(1) Fusion of two male gametes with one egg

(2) Fusion of one male gamete with two polar
nuclei

(8) Fusion of two male gametes of a pollen tube
with two different eggs

(4) Syngamy and triple fusion

In which of the following forms is iron absorbed
by plants ?

(1) Free element

(2) Ferrous

(8) Ferric

(4) Both ferric and ferrous

Which of the following elements is responsible for
maintaining turgor in cells ?

(1) Potassium

(2)  Sodium

(3) Magnesium

(4) Calcium

Which one of the following plants shows a very
close relationship with a species of moth, where

none of the two can complete its life cycle without
the other ?

(1) Banana

(2)  Yucca
(3) Hpydrilla
(4) Viola

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -196°C

(2) -80°C
(3) -120°C
(4) -160°C
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10.

11.

12,

13.

Frafafaa stieet & fra yor o1 wiitfeufasdh fifis
greq TR S 2
Tgeere Suvierar : 120 g
Trifires UM : 60 g
T1fHeh 3caeeh : 10 g
(1) & = Hen flfis
2) St w1 Rfrs
(3) SauT 1 3l fifus
(4) Staum 1 dar e

Fefardt & = stfim B 2
(1) 3TETE hl BIed It AT hl T
(2) A

(3) HAIL

(4) Uk 3MEE ¥ AT & AW Tl il T&
fova ofei= fea@ se 7amn San 2 2

(1) 16 faarr

(2) 2137

3) 53

(4) 2230w

THaEed W, MW % fashdiewr e smfvae
e il fegf o fefafae & @ #0a o=
3NH % &9 U HE HLar @ ?

(1) Fe

2 Qa

(3) whrEA

(4) TS

Fepa w2 2

(1) dYHE BT 98 YUE S Sid Wl @ % o

=fee
(2) T8 Wife TIH @l Th Sagr &l @

(3) g & waieo A aft Jfas s
(4) TH S grr F9E T wEts e, SwET aw

&l @
ffafea 4 @ ®F- T s a5 @ 2
(1) SO0,
2 €O,
3) CO
4) O,

10.

11.

12.

13.

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g
Primary consumer : 60 g
Primary producer : 10 g

(1) Upright pyramid of numbers

(2) Pyramid of energy

(3) Inverted pyramid of biomass

(4) Upright pyramid of biomass

Natality refers to

(1) Number of individuals leaving the habitat
(2) Birth rate

(3) Death rate

(4) Number of individuals entering a habitat

World Ozone Day is celebrated on
(1) 16th September

(2 21% April

3) 5™ June

@ 22" April

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1) Fe
2 cl
(3) Carbon
(4) Oxygen
Niche is

(1) the range of temperature that the organism
needs to live

(2) the physical space where an organism lives

(3) all the biological factors in the organism’s
environment

(4) the functional role played by the organism
where it lives

Which of the following is a secondary pollutant ?

1) S0,
2 €O,
3) €O
4 0,
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14.

15.

16.

17.

18.

19.

20.

(1) @™ IFgasist § |
(2) [fFefoder ww  foumeiem  arenm @, w@fh
Gooifa7 T THEISTY] Te 7 |

(3) SHEgaeitE # dwme sverm fufa grr afiteg
T B |

(4) GEHY ARG8T T T ARG O SARad
B2 |

v fore Bt § 2

(1) wETer ged |

(2) TIGA-ICATTS STAgIg §

(3) UGG H

(4) SoHH g o

STehtehe, fehdeRT ®UTRUT & ?

(1) Hgem qd

(2) sTaETie qa

(3) 1

(4) e

fesfiowsht a4 § fedaes Seom 3R v fred 3caw
B 8§ ?

(1) hFSH

(2) ¥eed T

(3) ey fawsan

(4) wef fawsan

TAT HAA I AT :

(1) TSI T Ued = 3R @ T80 i ohl
BICEIE N

(2) TR H GEEY SRAfEAERAT T R |

(3) <haehl 3T URY Sd & He&dl H wifvrenr fufa
39feord gt B |

(4) AT B SewR Wff Sardt HY i @
AHUHIE Toh AR & |

ot afgai sl Bl § ?

(1) e

(2) uRTH

(3) SmeIea=n

(4) IAdE&ca=n

I8 ed -8 & o T afyg oid o faepar @
Bt ?

(1) wipud

(2) TUIT TSt

(3) =™

(4) WTEHhgE

14.

15.

16.

17.

18.

19.

20.

Which of the following statements is correct ?
(1) Horsetails are gymnosperms.

(2) Selaginella is heterosporous, while Salvinia
is homosporous.

(3) Ovules are not enclosed by ovary wall in
gymnosperms.

(4) Stems are usually unbranched in both
Cycas and Cedrus.

Pneumatophores occur in

(1) Carnivorous plants

(2) Free-floating hydrophytes

(3) Halophytes

(4) Submerged hydrophytes

Sweet potato is a modified
(1) Tap root

(2) Adventitious root

(3) Stem

(4) Rhizome

Secondary xylem and phloem in dicot stem are
produced by

(1) Phellogen
(2) Vascular cambium
(3) Apical meristems

(4) Axillary meristems

Select the wrong statement :

(1) Pseudopodia are locomotory and feeding
structures in Sporozoans.

(2) Mushrooms belong to Basidiomycetes.

(3) Cell wall is present in members of Fungi
and Plantae.

(4) Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.

Casparian strips occur in

(1) Cortex

(2) Pericycle

(3) Epidermis

(4) Endodermis

Plants having little or no secondary growth are

(1) Conifers

(2) Deciduous angiosperms

(3) Grasses

(4) Cycads
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21.

22.

23.

24.

25.

26.

us foesht wrot g =med B w99 e B e
(wehear) Toparm o o, wrarfy vE fored Wi A o W
Y e 2 | w7 fores wrafa 2 2

(1) <=t T

(2) & HER

(3) Co-667

(4) Sl

S TR § ..U & Th Iohe o (HavH & fofg
FrafeiRed ® & HH-|1 daet FW=IG: Y Rt S
2?

(1) AN

(2) Tivwafswe

(3) WIETEH (99 d15WH)
(4) pBR 322

JEUT HE SR TS g et @ A 3Eeh
At i form Srgafea % Sa@EreH % U Sl
T ST B ?

(1)  J9-3{9eed

(2) rEEE (ST Twg)

(3) Sa-3gEd

(4) Sg-wur

&g gael i AT :

(1) dAw=. qH -
(2) Fy x HAIHE b —
(3) TSI -
(4) <ft. Hewd -

UifcTS J@en AMfRAT (PCR) | =N &1 @&l A
Q2

(1) Toepdieto, fowaon, wieH

(2) oFie, fawa, foshdient

(3) foreawor, fopefietor, srfierm

(4) Toepdieto, oo, foao

e 39T % f eafiRa: wuiaia el %
Yo % IR H GRETT o GodAiehd o fTU ARG § -
TS IR B 2

(1) 3Tafe giEmer sgagM afifd (RCGM)
(2) S wd SfEfies sgEu™ aftse (CSIR)
(3) YR TYfdeH igEy™ afwg (ICMR)

(4) TR AREGEA goae wfifd (GEAC)

TRSHHIT
ot |
facTen 3
BITLOT

21.

22,

23.

24.

25.

26.

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(1) Lerma Rojo

(2) Sharbati Sonora
(3) Co-667

(4) Basmati

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(1) X phage

(2) Tiplasmid

(3) Retrovirus

(4) pBR 322

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(1) Biodegradation
(2) Biopiracy
(3) Bio-infringement

(4) Bioexploitation

Select the correct match :

(1) T.H. Morgan -
(2) Fy x Recessive parent
(3) Ribozyme -
(4) G. Mendel -

Transduction

Dihybrid cross
Nucleic acid

Transformation

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(1) Denaturation, Extension, Annealing
(2) Annealing, Extension, Denaturation
(3) Extension, Denaturation, Annealing
(4) Denaturation, Annealing, Extension

In India, the organisation responsible for
assessing the safety of introducing genetically
modified organisms for public use is

(1) Research Committee on Genetic
Manipulation (RCGM)

(2) Council for Scientific and Industrial
Research (CSIR)

(3) Indian Council of Medical Research (ICMR)

(4) Genetic Engineering Appraisal Committee
(GEAC)
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217.

28.

29.

30.

31.

32.

33.

34.

I FESTT TORGT T JFRU fohe TTaTeT H TR
FaT g ?

(1) 9RITfashA

2) foug

(3) TYUE

(4) gmug

Tesht aftiy forad o o 2

(1) Shamget § vaeq §

(2) @t gieeprsni & s o

(3) oH ITEA o YA U

(4) T oA < iAo H

Tt <1 nifasfierar ferad wenfaa 787 gt 2
(1) O, Higal &

(2) T Y

(3) AIWH ¥

4) CO,Higa &

o8 o ahl H Ty 8 B § 2
(1) STRIAHR
(2) TFHEHR

(3) SIATHR
(4) CIARTHI

U % G firererires wrafeas Tg S § ?

(1) i 3 HiEhe

(2) Hreier 3T A

(3) ETsgifrad T Al

(4) EIHS R FTESHFIA

fefafga & @ ST TF THE-GTAN0 Hl TR

Affshan o1 3cuTe 757 B 2

(1) NADPH

(2) NADH

(3) ATP

(4) Oxygen

g o fou freafafed & & wH-a1 w& 2 2

(1) Tgdh - & AT AT B |

2 T afmea?

(3) fauifa Bt wifdrersti # 92 Hfgw 80 & |

(4) 98 UsAEWA RNA Evawol 1 fspamsfied woret
2

frefafea & @ wF-a1 T qeeght 787 7 2

[

(1) i

(2) HIEHIFFIRTT
(38) dFuarsdis
(4)  s7fEGeIRaT

27.

28.

29.

30.

31.

32.

33.

34.

The stage during which separation of the paired
homologous chromosomes begins is

(1) Diakinesis

(2) Diplotene

(3) Pachytene

(4) Zygotene

The Golgi complex participates in
(1) Respiration in bacteria

(2) Formation of secretory vesicles
(3) Fatty acid breakdown

(4)  Activation of amino acid
Stomatal movement is not affected by
(1)  Og concentration

(2) Light

(3) Temperature

(4) COgy concentration

Stomata in grass leaf are

(1) Rectangular

(2) Kidney shaped

(3) Dumb-bell shaped

(4) Barrel shaped

The two functional groups -characteristic of
sugars are

(1) carbonyl and phosphate
(2) carbonyl and methyl

(3) hydroxyl and methyl
(4) carbonyl and hydroxyl

Which of the following is not a product of light
reaction of photosynthesis ?

(1) NADPH

(2) NADH

(3) ATP

(4) Oxygen

Which of the following is true for nucleolus ?

(1) It takes part in spindle formation.

(2) It is a membrane-bound structure.

(8) Larger nucleoli are present in dividing cells.

(4) It is a site for active ribosomal RNA
synthesis.

Which among the following is not a prokaryote ?

(1) Nostoc

(2) Mycobacterium

(38) Saccharomyces

(4) Oscillatoria
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35.

36.

37.

38.

guel WrTehvT fehem g 8 2

1) ™

(2) GIsHg

(3) THl

(4) 957q

frafafgs & @ fore Shrgepgerm e sregfifaveH
% g SS9 Sgsiid &9 § 3099 8Id & ?
(1) TRPT

(2) 3SR

(3) =IEnT

(4) FFmTEdT

frfafigd 8 @ wF-T1 777 w9 ° gofoa g 2

(1) S g - TRRET

(2) feromfies =eeiem) — R Har

(3) TUHHIMh JWh  —  GHTAEHNATT

(4) UHHIEH e —  FARAT

Ty 1 8 < E Al o waey 11 1 Hel | fireme hifste
i e feu U fosedi & @ @gt fawew =1 wA
shifsre

&Y [ &7y I1
a. UQEEE i OafEd ded SR Sl %
U 1 Teh LTI |
b ﬁﬁﬁ i, U eTd e s g} Sfa
=1 fafergee TF #d 7Y 3R
TR UgEH I g & faw
et o id 8T T = |
c. TUTE il UM ¥ @l 9IeY Tl i
FEH 3R TR T T
JTRITYT T T AT 7 |
d. TUEE  iv. T Yieaehr frad aegon <t e
(herat) 3R 37k foehed B1d & S
fafir anfent <t vg=m & &
" B ¢ |
a b c d
(D i iv i i
(2 i i i v
(3 i iv i i
(4 i v i i

35.

36.

37.

38.

Winged pollen grains are present in

(1) Mango
(2) Cycas
(3) Mustard
(4) Pinus

After karyogamy followed by meiosis, spores are
produced exogenously in

(1) Agaricus

(2) Alternaria

(8) Neurospora

(4)  Saccharomyces

Which one is wrongly matched ?
(1) Gemma cups —  Marchantia
(2) Biflagellate zoospores — Brown algae
(3)  Uniflagellate gametes

(4)  Unicellular organism

Polysiphonia
Chlorella

Match the items given in Column I with those in
Column IT and select the correct option given
below :

Column II

It is a place having a
collection of preserved
plants and animals.

Column I

a. Herbarium 1.

A list that enumerates
methodically all the
species found in an area
with brief description
aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

d. Catalogue iv. A booklet containing a list
of characters and their
alternates which are
helpful in identification of

various taxa.

a b c d
(1) i iv 1ii i
(2) it ii i iv
3 i iv iii ii
(4) i iv i ii
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39.

40.

41.

42.

43.

44.

45.

Frafafaa § @ frat 3w Sfied e # ae T a1
& I B @ ?

(1) m

(2) hegd

(3) | wfisfie

(4) gdtar

Frafafea & & wF-a1 39 779 w9 ° gafad 7 2
(1) XO =R fom fagior @ fegar

(2) ABO W& aqgd R ESEICE

(3) HEH HS WAVl : Wgforhodl

(4) dAw=. qH ;. HEAEl
‘sriple’ fohdeh grT Icatfed B B 2

(1) SAfNeweE g

(2) T faursm g

(3) g fawrsH g

(4) IAFYFHTH g

frafafea & @ 98 W = Sawda & w9 A
iTfard <t § FErEeh Hiied g3 ?

(1) cf e

(2) HGA™ I ;A

(3) W fohe

(4) THOHIA

aﬁmmaﬁgﬁq:

(1) TATsfHEEy T § 9T od 2 |

(2) e 1w ferfew Ienfies gra foskfaa fopam e
o |

(3) “Tgaar’ weg w1 fmiur Hepfo Terga A fokam |

(4) URSHHY I TN TH. FeedH 3 61 off |

LT, & e TiqHid H IR STHI Sdyem

feremt g mm o 2

(1) dueuH

(2) Sfamy

(3) e b

(4) foump 4

g1 At i g :

(1) ey Ageud iR U, Wed — 73G9 Jerzan

(2) Ihs e M At Im - A,

(3) T AhE B CICT Gl
(4) THhedTE ke YT e TS — e ITUU

39.

40.

41.

42,

43.

44.

45.

Which of the following flowers only once in its
life-time ?

(1) Mango

(2)  Jackfruit

(3) Bamboo species

(4) Papaya

Which of the following pairs is wrongly

matched ?

(1) XO type sex Grasshopper
determination

(2) ABO blood grouping
(8) Starch synthesis in pea
(4) T.H. Morgan

Offsets are produced by
(1) Parthenocarpy

(2) Mitotic divisions
(8) Meiotic divisions
(4) Parthenogenesis

Co-dominance
Multiple alleles
Linkage

Which of the following has proved helpful in
preserving pollen as fossils ?

(1) Oil content

(2) Cellulosic intine
(3) Pollenkitt

(4) Sporopollenin

Select the correct statement :
(1) Spliceosomes take part in translation.

(2) Punnett square was developed by a British
scientist.

(3) Franklin Stahl coined the term “linkage”.

(4) Transduction was discovered by S. Altman.
The experimental proof for semiconservative
replication of DNA was first shown in a

(1) Plant

(2) Bacterium

(3) Fungus

(4) Virus

Select the correct match :

(1) Matthew Meselson —  Pisum sativum

and F. Stahl
(2) Alfred Hershey and - TMV
Martha Chase
(3) Alec Jeffreys — Streptococcus
pneumoniae

(4) Francois Jacob and -
Jacques Monod

Lac operon
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46.

47.

48.

T I H T Al o TR 11 hl ael § e hifse
IR f= few MU fowmedi & @ @E? fasey w1 T

HINT

TEy [
a. SINT T i.
b. JAEEEd gida i

ey I1
2500 — 3000 ..
1100 — 1200 fi. <.

CIDKE]

c. TvaEs gfea iii. 500 — 550 fir.<fh.
IDKE]

d. oTafmse A iv. 1000 — 1100 ..
a b c d

1 i iv ii iii

2 i i iv ii

(3) i il i iv

4) iv iii ii i

Frafafaa o @ w-an faehed shas: gAT 3R araehifa

o %hel <t g i 3fud w9 & gwiar § 2

(1) vI&t Gag | ITferehdr; yagient o Iy

(2) vaEleT I G § 3fuehdr; IS Hag °
SFferehar

(3) vIEfT ° MY, WA Tdg | HH
(4) Y& T8 | HHl; TIERT H Y

T I H & TS Al o TR 11 <kl wel § e hifs
IR i few MU fomewi 0§ @E? fawew &1 WA

I

&aEy [ 7=y I1
a. Pae suae i, < srfere @ 9 e
& o=
b. feaah e ii.  gifgd e e pope
gt & o=
c. ofdTeg HUIHT il <Ied 1fTg Ud afe
e & &=
a b c
1 i ii iii
2 i iii ii
(8) iii i ii
(4) ii i iii

46.

47.

48.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column II
2500 — 3000 mL
1100 — 1200 mL

Column I
a. Tidal volume 1.

Inspiratory Reserve  ii.
volume
c. Expiratory Reserve iii. 500 — 550 mL

volume

d. Residual volume iv. 1000 — 1100 mL

a b c d
1 1 iv ii iii
(2) it i iv ii
(3) it ii i iv
(4) iv iii ii i
Which of the following options correctly

represents the lung conditions in asthma and
emphysema, respectively ?
(1) Increased respiratory  surface;

Inflammation of bronchioles

(2) Increased number of bronchioles; Increased
respiratory surface

(3) Inflammation of bronchioles; Decreased
respiratory surface
(4) Decreased respiratory surface;

Inflammation of bronchioles
Match the items given in Column I with those in
Column II and select the correct option given
below :
Column 11

Between left atrium
and left ventricle

Column I

a. Tricuspid valve 1.

Between right
ventricle and
pulmonary artery

b.  Bicuspid valve ii.

c.  Semilunar valve iii. Between right
atrium and right
ventricle

a b c

1 i ii iii

2 i iii ii

(3) iii i ii

4 i i iii
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49.

50.

51.

52.

53.

T T HIF-HT U 1 I 7gT 8 2
(1) TEER

(2) ETEATCHS S(H

(3) Ydicish

(4) AR

T S & HIfeT 59 HT 0 AGGTATCGCAT 2 |
8% g 3TIRad mRNA T Hefed shH &I BT 2
(1)  ACCUAUGCGAU

(2) UGGTUTCGCAT

(3) AGGUAUCGCAU

(4 UCCAUAGCGUA

M & i & sgEr fowm i frfafy fra yer
Bt & 2

(1) <iffeh goa T&9 qiEdd (Seorredt fafiwear)
(2) ¥eeIH

(3) wEEU IcaNaaH

(4) g IcarEd

ey 18 &) 78 9e o1 Ty 11 gel § faam hifv
IR f few U fawmedwi @ @E? fawew w1 WA

I

&Tey [ &z I1
a. SGUGHIA WEEAT i, TR 7% o foered
b. @l g ii. Yeehr Srere
c. kgaE iii. drafivg graEen
a b c
(1) i iii i
2) i i ii
(3) iii ii i
(4) iii i ii

T Tt % T X R H X-G T B | I8 TR
fopl Srsmrra & 2

(1) sharel drar-dife /Art-arfesi &

(2) had g °

(3) <hawt ghmE H

(4) Al wd giRi gl |

49.

50.

51.

52.

53.

All of the following are part of an operon except
(1) an enhancer

(2) structural genes

(3) an operator

(4) a promoter

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(1) ACCUAUGCGAU
(2) UGGTUTCGCAT
(3) AGGUAUCGCAU
(4) UCCAUAGCGUA

According to Hugo de Vries, the mechanism of
evolution is

(1) Phenotypic variations

(2) Saltation

(3) Multiple step mutations

(4) Minor mutations

Match the items given in Column I with those in

Column IT and select the correct option given
below :

Column 1 Column II

a. Proliferative Phase i. Breakdown of

endometrial
lining
b.  Secretory Phase ii. Follicular Phase
c. Menstruation iii. Luteal Phase
a b c
(D i iii i

(2) i iii ii
(3) iii ii i
(4) iii i ii
A woman has an X-linked condition on one of her
This can be

X chromosomes. chromosome

inherited by

(1) Only grandchildren

(2) Only sons

(3)  Only daughters

(4) Both sons and daughters
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54.

55.

56.

57.

58.

59.

fafereem s @it Tesert A fohe bR firm & 2

(1) 3 IR = Tehed & T qre1e 1 T=0T Hd &

(2) T Afiad a1 Fehre % fore dgpasfia
gt Bt B

(3) I T o foTu Humfirest 1 TN Hd 3

(4) 3 Gl FhR o hgeh Bl &

FREh! FE % I I=q3ll ! GG HIC S 3T
9= 7 | 3 U e grr sifvated | |

(D wdie

(2) Afen

(3) UfFpforn

(4) aAifeeaefts

Frafafed & @ HH-8 Sita 7g@rR § g9 3cIEH 5
w9 Y S A8 ?

(1) wEASFE

(2) SHEHE

(3) SRATRASITICE
(4) FAHTESH
Frafafed & & S8 A0 T Hipia H IgaH 1T
ikl H Hd & 2

(1) & YR 3785 Higd 3 96

(2) Y=o Y i ufefd

(3) 9 I W W ARl o AR hl AT Hi
3ufeerfy

(4) TG I 3ufefd
Ffafaa gt 4 § M-8 =g SR g7 B ?

(1) =Yg

(2) Hfhe
(3) gl
(4) RGBT

ffafga # & - S guarh 737 8 2
(1) FFaa

2) T
(3) dAwlvg
(4) T1@Rgar

54.

55.

56.

57.

58.

59.

Ciliates differ from all other protozoans in
(1) using pseudopodia for capturing prey

(2) having a contractile vacuole for removing
excess water

(3) using flagella for locomotion

(4) having two types of nuclei

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1) Aves

(2) Reptilia

(3) Amphibia

(4) Osteichthyes

Which of the following organisms are known as
chief producers in the oceans ?

(1) Cyanobacteria

(2) Diatoms

(3) Dinoflagellates

(4) Euglenoids

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(1) Forewings with darker tegmina

(2) Presence of caudal styles

(3) Presence of a boat shaped sternum on the
9" abdominal segment

(4) Presence of anal cerci

Which of the following animals does not undergo
metamorphosis ?

(1) Moth

(2) Tunicate
(3) Earthworm
(4) Starfish

Which one of
homeotherm ?

(1) Camelus
(2) Chelone

these animals is not a

(3) Macropus
(4) Psittacula
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60. THT 9 § yreef ¥ fhEeh gRT S99 TYM W TEd1[60. The transparent lens in the human eye is held in
22 its place by

1) smetEd ﬁ?ﬁ St AR et (1) smooth muscles attached to the iris
) (2) ligaments attached to the iris
(2) si@ ¥ I8 WIS g

(3) UEHY M ¥ Ig FFAT g (4) smooth muscles attached to the ciliary body
(4) UEAY HE A L ot At gra

(3) ligaments attached to the ciliary body

61. Which of the following structures or regions is
incorrectly paired with its function ?

61. THfigd § ¥ HH-H HEA e & 396 HE °

! (1) Hypothalamus :  production of
T T d g 7 releasing hormones
i < s . and regulation of
(1) e : fordrem &t 1 Seame o temperature,
d :!] T, @ AT 18 <l hunger and thirst.
TR R | - :
(2) Limbic system . consists of fibre
2) fofaes o= : GG % & I ufedss tracts that
fafim & %1 s  Sived interconnect
S0t el Tl et | ' different regions of
’ brain; controls
(3) ST e : Y96 T ge¥ Rw=r uftadt movement.
=1 b e | (3) Medulla oblongata : controls respiration
. o . and cardiovascular
(4) iFE Heftan ;o1 ud < swieds e reflexes.
%I SIS aTel qgedl hl Igt |
(4) Corpus callosum : band of fibers

connecting left and
right cerebral

62. Freffan § & fm g & o § ged

hemispheres.
qoHT @ 2 . .
' 62. Which of the following hormones can play a
(1) TEISH g Hemsiisgs g significant role in osteoporosis ?
(2) TN T TeerelH (1) Estrogen and Parathyroid hormone

(2) Progesterone and Aldosterone

(3) Ucerdld Ud Yraifaed
™ (3) Aldosterone and Prolactin

(4) FeTEiEe B w ST (4) Parathyroid hormone and Prolactin
63. Ti=fafgd & & sH-=1 @M UHiAl 377t © e 2rar | 63 Which of the following is an amino acid derived
29 hormone ?
(1) uEIfestd (1) Estradiol
(2) UFEEEN (2) Ecdysone
(3) UUThH (3) Epinephrine
(4) ulegsta (4) Estriol
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64. T [ H & TS 0l 1 T 11 H 74t 7 Ty hifse
IR f= few MU fowmedi & @ @E? fasey w1 T

65.

64.

Match the items given in Column I with those in

Column II and select the correct option given

+IfSu below :
Tyl &TFy I Column I Column I
a. WW i Srer g ?{F{EB STEA a.  Glycosuria i. Accumulation of uric
. acid in joints
U BT
e e . b.  Gout ii. Mass of crystallised
b. TEE ii. gk | foreefcta waon & salts within the kidney
faue c. Renalcalculi iii. Inflammation in
.~ lomeruli
c. gEhRY Ul iii. BT # VETERAl 8
e Wﬁ d. Glomerular iv. Presence of glucose in
( ) nephritis urine
d. TS JFRMY  iv. GF § R Bl EH a b c d
a b c d D i iii i iv
1) i iii i iv 2 1 ii iii iv
(2) i ii iii iv (3) iii ii iv i
(3) iii ii iv i 4) iv i ii iii
4) v i i iii 65. Match the items given in Column I with those in

ey 18 & 7S 9el o1 wary 11 9el § faam il
IR i few U fomewi 0§ @E? fawew &1 WA

T

&7y [

()
a.  IAlagEn FeE
b. T 1 HGW
c. T H ABFH

d. 3 I GUEW

a b
1 v iv
(2) iv i
(3) iv v
4) v iv

ey I1
(3eGi+ TF BT YTT)

iii. e

v. HHfiTEy gafad Aferen

i ii

il iii
i iii
i 1ii

Column IT and select the correct option given

below :
Column I Column II
(Function) (Part of Excretory
System,)

a. Ultrafiltration

b. Concentration
of urine

c.  Transport of
urine

d. Storage of urine

a b c
1) v iv i
(2) iv i ii
3) iv v ii

4) v iv i

i. Henle’s loop

ii. Ureter

iii. Urinary bladder

iv. Malpighian
corpuscle

v. Proximal
convoluted tubule

ii
iii
iii

iii
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66.

67.

68.

69.

frafafaa @ @ s J6t Hifvend sy ' 3
T3 § Wgg hidl & ?

(1) e (Mecie) IR

(2) TOTSHT SHIRTHIT

(3) T Hifdrepd

(4) fixfi Sifsrenrd

ey 18 &) 78 9e o ward 11 1 9e & fiam hifse
IR = few MU fowmewt @ @ @E? famew w1 =

HIT

ey [ &y 11

a.  IESHSH i OO HqeH

b. TAGH ii. T Yerehl

c Qv_{ﬁﬂ iii.  wfceen fsanfafe
a b c

1 i iii ii

@2 i ii iii

(3) iii ii i

(4) ii iii i

ShebTel U1 Hepe | hicerem e Ul § Fifh I8
(1) Ufeea dq & Arnfes s w1 o1 ot 2ar @ |
(2) AR TS & st 30 framefia et 7 |

(3) T ¥ et Ufded & |fsha T  3TmeRT
1 BT T & WRNTEE % fow |

(4) WA HE ¥ R Ufded a9 % wed ey
fomfor =67 ket 2

fafafgd # 9 saaiRie vau faer &1 3w =
?7?

(1) @igfasa
2) fafeermar
(3) U
(4) araehifd

66.

67.

68.

69.

Which of the following gastric cells indirectly

help in erythropoiesis ?
(1) Goblet cells

(2) Mucous cells

(3) Chief cells

(4) Parietal cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column 1 Column I1

a. Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

1 i iii ii

(2) i ii iii

(3) iii ii i

(4) ii iii i

Calcium is important in skeletal muscle

contraction because it

(1) detaches the myosin head from the actin
filament.

(2) activates the myosin ATPase by binding to
it.

(3) binds to troponin to remove the masking of
active sites on actin for myosin.

(4) prevents the formation of bonds between
the myosin cross bridges and the actin
filament.

Which

respiratory disorder ?

of the following is an occupational

(1) Botulism

(2) Silicosis

(3) Anthracis
(4) Emphysema
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70. 3T Y HI9-H1 HAT Toid & ? 70. Which of these statements is incorrect ?
(1) TAEHIAGH q9 I BT & 9e de 38 gEgH (1) Glycolysis operates as long as it is supplied

WTE'Iﬁ 1 I3 F fIT NAD frerdn war 2 | with NAD that can pick up hydrogen atoms.
(2) ToTERIAE PR § Gud B R | (2) Glycolysis occurs in cytosol.
(3) TCA =% & TSATEH WW ¥ amurh § forg (3) Enzymes of TCA cycle are present in
A mitochondrial matrix.
4) il wremeR W&W £ (4) Oxidative phosphorylation takes place in
@ Rreh & @?ﬂ 3 A outer mitochondrial membrane.

71. Nissl bodies are mainly composed of

71. frEa % five geud: foraeh o4 & 2 (1) Nucleic acids and SER

(1) fas ¥ T SER (2) DNA and RNA
(2) DNATE RNA

(3) WIdH w fefus
(4) Y& TsaE™ td RER

(3) Proteins and lipids
(4) Free ribosomes and RER

72. Select the incorrect match :

72. o7 et b1 = i (1) Submetacentric — L-shaped chromososmes
(1) 3YHETehyl TRE — L-3ThRIT U Chromosomes
(2) UAEH _ i%;mw (2) Allosomes — Sex chromosomes
; Lampbrush — Diplotene bivalen
Ei; Eﬂﬂ;% : ooz % gq;ﬁm (3) c}?roglk;slcljnes plotene bivalents
(4) Polytene — Oocytes of amphibians
73. g T TEEEm TF mRNA ¥ dug B AT chromosomes
qifeticersg sl &g Sfdal 910 8 | UsSEm Sl UE |73, Many ribosomes may associate with a single
ﬂ@wazﬁ ] FIT had & ? rr}RNA to form multiple cppies of a polypeptide
1) enfeem i:;lrﬁ(le?ggously. Such strings of ribosomes are
2) wm (1) Plastidome
@) =T (2) Polyhedral bodies
@ - (3) Polysome
74. T USranfens WHem (RER) # fefafed & & (4)  Nucleosome
H-H T 7g7 Bt ? 74. Which of the following events does not occur in
(1) Hohd ULTSE o ToeeH rough endoplasmic reticulum ?
(2) T Pl TATEHITHATH (1) Cleavage of signal peptide
(3) TIH I I (2) Protein glycosylation
(4) wiEpIfafis ety (3) Protein folding
. . (4) Phospholipid synthesis
75. frafafed # @ SR8 afnfys weg 7Fa afe=ma
1 aftta #@ § 2 75. Which of the following terms describe human

dentition ?

(1) Yded!, TshaRed!, THad!

(1) Pleurodont, Monophyodont, Homodont

@ i :’ : o . (2) Thecodont, Diphyodont, Heterodont

® LV ,’ ) (3) Thecodont, Diphyodont, Homodont

) ’ ’ (4) Pleurodont, Diphyodont, Heterodont
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76.

71.

78.

79.

80.

T <1 I FEdl g3 e o

(1) SFF&W U9 SH-9d oafse @& § et '
2

(2) S S SRR SAfsedi 8 %7 Bd 3 |

(3) THYE A Fem SAfeeHl ¥ 31fesh 21d 2 |

(4) g =Afse Fem safeest & %A 8§ |

T I H TS Al o &R 11 hl Hel § e hifs
I f= for T fasmedt § @ @t faswew w1 WA

it
&y [ &y I1

a.  gUmN i. UV-B faferto

b. &fed efha i, S

c. Temrad (VN sAEeE) il 99 dgig

d. FuEd iv. smufirse faem
a b c d

(1) i v i ii

2) i iii iv ii

(3) ii i iii iv

4) i ii iv iii

“Thiep” THe g7 UIEAT 419 % foRE W § WTod Bl B 2
(1) &8

(2) A H
(3) Hai ™
(4) uR=i @

frfafga & & faferean fogm § wfrsifaes % e &
fq wmfee &1 HH-H TReAiw Bha g w@m
STt 8 2

(1) OEsffean

(2) |G

(3) @@WIRsHa

(4) wEfTsH

frfafea & @ wR-an Srera™ W § 787 e 2
(1) aedfas 3=

(2) fed 3qaq

(3) TA-Sa THRY Tk

(4) s d&%

76.

71.

78.

79.

80.

In a growing population of a country,

(1) reproductive and pre-reproductive
individuals are equal in number.

(2) reproductive individuals are less than the
post-reproductive individuals.

(3) pre-reproductive individuals are more than
the reproductive individuals.

(4) pre-reproductive individuals are less than
the reproductive individuals.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I
a. Eutrophication i. UV-B radiation
b.  Sanitary landfill ii. Deforestation
Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
(1) i iv i ii
2 1 iii iv ii
3 i i iii iv
4) i ii iv iii

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Roots
(2) Latex
(3) Flowers
(4) Leaves
Which one of the following population

interactions is widely used in medical science for
the production of antibiotics ?

(1) Parasitism
(2) Mutualism
(8) Commensalism

(4) Amensalism

All of the following are included in ‘Ex-situ
conservation’ except

(1) Botanical gardens
(2) Sacred groves

(3) Wildlife safari parks
(4) Seed banks
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81.

82.

83.

84.

AT ] A W@ % AU 90 HH-H BEE Ered
HTAT 7 ?

(1) hCG, hPL, ISR, TESH

(2) hCG, hPL, T&eieH, ffem, srifeqerfam

(3) hCG, hPL, YSiEie, Tetfaed

(4) hCG, INENH, TENH, ‘('LdolchTré*Tss

MY ‘Gl
(1) THIUD® |

(2) WERA § WM $ Higdl Sl dgdl 8 Ud
STEIedT sl Ushd! 2 |

(3) TS § TEISH UTEl hl Ta%6g hidl & Td 3Te
o 9T T Tehd! & |

(4) TH TE-AYT THARIEH 7 |

TS TS Y (Tafifeer) | 71 STt & ?

(1) IV § SRS 1 Hefefl ehifsremren &
WEhoh AR Wl Tfeeht H A=A Bl 3,
Selfeh YEHIIREH H Yh19] s § |

(2) YhUSHA H LI S E, el LA A
RIS A F |

(3) YHISH H YHE T &, Tk oI |
IR1Y] S & |

(4) S A R G E, Sl YA H
YGRS HT WIS hIRERIRT H IEheh
AfcreRtal i Tfesht | Hied B8 |

TRl yor 1 e forg o9 foRed st ® 2
(1) WEISHER U Sehieh
(2) ITaEcadl Ud HEISTER

(8) TR Ud HEISET

(4) TRl Ud IdEca=l

81.

82.

83.

84.

Hormones secreted by the placenta to maintain

pregnancy are

(1) hCG, hPL, progestogens, estrogens

(2) hCG, hPL, estrogens, relaxin, oxytocin
(3) hCG, hPL, progestogens, prolactin

(4) hCG, progestogens, estrogens,
glucocorticoids

The contraceptive ‘SAHELT

(1) 1isan IUD.

(2) increases the concentration of estrogen and
prevents ovulation in females.

(3) Dblocks estrogen receptors in the uterus,
preventing eggs from getting implanted.

(4) 1is a post-coital contraceptive.

The difference between spermiogenesis and
spermiation is

(1) In spermiogenesis spermatozoa from sertoli
into the

seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

(2) In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.

(3) In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.

(4) In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are

released from sertoli cells into the cavity of

seminiferous tubules.

The amnion of mammalian embryo is derived
from

(1) mesoderm and trophoblast

(2) endoderm and mesoderm

(3) ectoderm and mesoderm

(4) ectoderm and endoderm
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85.

86.

87.

88.

89.

90.

ISP HIATHI o U hl Y TEAT T FHECT
ferrehT 3eTEA B ?

(1) e foem

(2) oaEdal

(3) HHSITAAT

(4) 3Fgepait faferto

fre T Hest g W9 T o RO SEieRT
g o fereprell Ny 3cua BT 8 2

(1) Torad T

(2) uEsifaE

(3) Uferbfeufem

(4) srhfatfim

Frefefiga # @ wi-an wayfaen o 787 8 2

(1) TASER T

(2) ®UJ Tfersmy

(3) =il

(4) fafefemm

Frafafea sfuaern & & SF-8 777 4 Sfem i i
a9’ sl 29id & 2

A
.

(1) b,dU e

(2) a,bWec

(3) b,cTde

(4) a,cTde

frafeafiga semt o & IeEen § ¥ 777 faweq
T TIT HINT -

(1) <HTEE, A T <idT i Aieash

(2) =G, HIAE T <Al I &ed

(3) WG, THCS U <Al o 3UE

(4) ATFRIGH, THCS Ud HH hl TG

T F @ F EFART F IR TSGR &
Fereeht gfg o HROT B 2 ?

(1) Toerftd By,

2) faarfm A

(3) faeriftm D

(4) faaftm E

85.

86.

87.

88.

89.

90.

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1) Convergent evolution

(2)  Analogy

(3) Homology

(4) Adaptive radiation

In which disease does mosquito transmitted

pathogen cause chronic inflammation of
lymphatic vessels ?

(1) Ringworm disease

(2) Ascariasis

(3) Elephantiasis

(4) Amoebiasis

Which of the following is nmot an autoimmune
disease ?

(1) Alzheimer’s disease

(2) Rheumatoid arthritis

(3) Psoriasis

(4) Vitiligo

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

a. Dominance

b Co-dominance

c.  Multiple allele

d. Incomplete dominance
e.  Polygenic inheritance
(1) b,dande

(2) a,bandc
(3) b,cande

(4) a,cande

Among the following sets of examples for
divergent evolution, select the incorrect option :

(1) Brain of bat, man and cheetah

(2) Heart of bat, man and cheetah

(3) Forelimbs of man, bat and cheetah

(4) Eye of octopus, bat and man

Conversion of milk to curd improves its
nutritional value by increasing the amount of

(1) Vitamin By

(2) Vitamin A

(3) Vitamin D

(4) Vitamin E
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91.

92.

93.

94.

forelt ThTRHTU A| % IAH (V) § A9 (T) & e
o=t % § S STgER BN @ | ofE e A #
STIET B dh WM hl Tisham 0 1 g fopu T Rt 3R

w%ggawshﬁawaﬂagm%
T B
A
0 —>T
D %
) g
@ 2
@ 2

forelt go1 AT d1sd I g g R S AT
qIgd % g gl (S B smgft % Ewe R |
Ife g AT I18Y I Awg 20 cm 7, a1 Gl AN
159 i TS BRI

(1) 12-5cm

(2) 8cm

(3) 132cm

(4) 16cm

A o T I FALHTR o ST HRILd fohel 3TeE
ST 3o <hl g1 Bt @

(1) 625%

(2) 20%

(3) 26:8%

4) 12:5%

fopg @ W A JTueT I i WIS WA (rms)
oA g2t % AYATSA H TR H THhA o [T A
e g ST ?

(feam T 2

JATFEISH o 3T T GEIHH (m) = 2:76 x 1026 kg

diegsH e ky = 1-38 x 10723 J K1)

(1) 5016x10*K
(2) 8360x10°K
(3) 2508x10*K
4) 1254x10*K

91.

92.

93.

94.

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y%

T

o

éT

(D

(2)

6))

4)

NN O N Wb W

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1) 12-5cm

(2) 8cm
3) 132cm
(4) 16 cm

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

(1) 6:25%

(2) 20%

3) 268%

4) 125%

At what temperature will the rms speed of

oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :

Mass of oxygen molecule (m) = 2-76 x 10726 kg
Boltzmann’s constant kg = 1:38 x 1022 g K_l)
(1) 5016x10*K
(2) 8360x10*K
3) 2:508x10*K
4 1254x10*K
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95.

96.

97.

AUFAR AT gere % fRHl TEAd g WIS
agfad YehTr a1y ¥ AAd war 7 | feRet faw
YA IV 4 R A T T foh wwmafda feRtol i
sqafia fRu Th-gEt % aFed § | FefaRed | @
Hi-a1 fashey o feufa & adt 8 2

(1) i=sin™! (1]
u

(2) wafdd yh gfad 8 3 g fogq afew
JATYGH o et o Tedd &

(3) wWafdd Yehm gfod g R 3@ fogq Afew
YA % dcl o THH &

(4) i=tan! (lJ
u

I % fferdt i °, ffei & ofe o d, 2 mm 2
qa f3rll & 9¢ 1 gl D %l 100 cm W@d §Y qUIGE
A = 5896 A % TehTSI T IUAT feram TR B | I® WA
o7 fop fShatl <Al <hIvfiT <iers 0-20° ] | @« (38T A 3R
D & fo) fhait Y wivfig =ierg i seret 0-21° +HW

% for farfet & ot % gershd &1 e &
() 21mm
(2) 19 mm
(3) 1-8mm
4) 17mm

forelt Tl SToad glaei® &l U TEe sTfae
3R ol fasigd 3= g, Afg 38 STfigyas o 6
(1) i gl ek 3R =9 &1 2

(2) BrRE gl Aferk 3R =aTE Bl @

(3) I g HH 3TN =™ a1 2

(4) HE g F 3 ™ Bl @

95.

96.

97.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

(1) i=sin! (1J
1)

(2) Reflected light is polarised with its electric
vector perpendicular to the plane of
incidence

(3) Reflected light is polarised with its electric

vector parallel to the plane of incidence
4) i=tan’ (1J
u

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to

(1) 2:1mm
(2) 1'9mm
3) 1-8mm
(4) 1'7mm

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of
(1) large focal length and large diameter
(2) large focal length and small diameter
(3) small focal length and large diameter

(4) small focal length and small diameter
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98.

99.

100.

101.

T % TR AR Srefeeli wen # Tl 7w hi feufo
A, B 3R C W s HArd AW K, K 3 K 7 |
AC & 317 2 7o 9 i feufa S W SB femmgem &

AT ACH A 3 | 99

(D
(2)
3
4)

Kg <Ky <K
Kj > Kg > K¢
Ky <Kg <K
Kg > K,y > K

T 39 Tl dled (A § 7 | WAled Tfd H a%q
TYHTAE TS ot (K,) o @re-gne goff Tfas e
(K,) ft 8t 3 | Tt & T K, - (K, + K,) T 319
=l
(1)
(2)
3)
(4)

afe & &1 geEmE %0 AT B q A Teed TRyl
oo afmmT # 10 T 71, @ FefaRad 8 @ wE-a
T 7T 7?7

(1) Yot T WA A 1 STEAHRIA HH 8 S |
(2) ol W = 3feeh e & ST |

(3) aut I o2 oxclt W Aferes aef | fh |

(4) geeft W g’ % AW H qitEdA & B |

IS 3 TIAT Yok AT § 3191 Tufufa 3187 o ufa:
o &9 U R W R | 3 M H GEHE FHE
T@d gu sEh e # gfg St 1 e % faw
frafafea 3 & wA- e ofer fer @l 2

(1) ooff wfas Het

(2) wreed e

(3) wIvfd am

(4) o Fam

10:7
5:7
7:10
2:5

98.

99.

100.

101.

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(D
(2)
3
4)

Kg <Kj < K¢
Ky > Kg > K¢
Ky <Kp < K¢
Kg > K, > K

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy
(K,) simultaneously. The ratio K; : (K; + K,) for
the sphere is

(1) 10:7

(2) 5:7

3 7:10

4 2:5

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1)

Time period of a simple pendulum on the
Earth would decrease.

(2)

Walking on the ground would become more

difficult.
(3) Raindrops will fall faster.

(4) ‘g’ on the Earth will not change.

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(D
(2)
3
(4)

Rotational kinetic energy
Moment of inertia
Angular velocity

Angular momentum
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102.

103.

104.

105.

0-5 kg m™! ¥fd 31 Trams geome i foelt g <t
afast T8 # T Faehd TMa o W S &Afes & 30°
T IV ST 2, T T 2 | 36 B I 380 e
€T JaTed hieht e Hlehd 8l a1 ST e 36 W
0-25 T ST %1 Frehid &7 Heatar foem § sl =t @
2 | D8 I for we & fau s yerfga a2

(1) 1476 A

(2) 598A

3) T14A

(4) 11:32A

20 mH %1 s Ik, 100 pF 1 hI GRS q5T 50 Q
%1 i3 Tfatiges, fa.a1. o (emf), V = 10 sin 314 t
% foreft i & ooft & wanfoa & | 38 diwy § ol
& 7
(1D
(2)
(3)
(4)
forelt forga-grees & gat & i fagreshE gerd H
T qacl! B8 Fealr fod g | 99 faga-gres § g/
Yalied i S 7, q1 98 B8 &AfdS Jraehid & 8 S
FW H AR Thd G T 2 | 3T THR g B Tecd
feufos St W Ll B | U e % T STevEs
T B

(1) DS % Ui shi STieh T

(2) FrEhE &

(3) faga &

(4) Y@ foega-g 1 fop uftad! gradhm & @ 3caa
a1 8

2714 W
043 W
0-79 W
1-113W

forelt =t poeelt Aeanfier it g gufear 5 div/mA
3TN Fieeal GuTfear (S $hl5 dicedl o 3cad hIv
&) 20 div/V & | 38 Treamier 1 afady B

(1) 2500

(2) 25Q

(3) 40Q

(4) 500 Q

102.

103.

104.

105.

A metallic rod of mass

0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with

per unit length

the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

(1) 1476 A

(2) 598A

3) 7T14A

(4) 11-32A

An inductor 20 mH, a capacitor 100 uF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

(1) 274 W
(2) 043 W
3 079W
4 113W

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
potential The work

gravitational energy.

required to do this comes from

(1)

the lattice structure of the material of the
rod

(2)
3
4)

the magnetic field
the current source

the induced electric field due to the
changing magnetic field

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 250Q
(2) 25Q
(3) 40Q
(4) 500Q
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106. fou U Wiy sm@ #, fEw dwed (V) 20V,
VBEZOHQHVCE:()%l IB,IcﬁTB%maﬁ

(1)
(2)
(3)
(4)

20V

Ip =20 uA, Ig=5mA, =250
Ip =25 A, Ig=5mA, =200
Ip =40 uA, Ig =10 mA, =250

Iy =40 uA, Io=5mA, B=125

107. fHt p-n @ft grTe ° T B @ q # gfiedq

(1)
(2)
(3)
(4)

p-n 41 o wfee =1 gl =& tan 8 |
had 3T JfeIY =T JHTfad hidl 2 |
ot goshr (Faed) afedg st i Hear 2 |

p-n A % THY V — I ATUeIeqor st guferd st
2|

108. o= # few mu n1ei & waieH | ffq Y v fAeet A eix
B UG H 39 YR S¥ad ToRaT ST Hehdl &

Ae

Be

(1)

(2)
3

4)

_J_
<

A.B+A.B
A.B+A.B
A.B
A+B

106. In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

values of I, Iy and B are given by
20V

(1) Iz=20uA, Ig=5mA, B =250
(2) Ig=25uA, Io=5mA, B =200
(3) Ip=40uA, Io=10mA, B =250
4) Iz=40pA, Io=5mA, p=125

107. In a p-n junction diode, change in temperature
due to heating

(1) does not affect resistance of p-n junction

(2) affects only forward resistance

(38) affects only reverse resistance

(4) affects the overall V — I characteristics of

p-n junction

108. In the combination of the following gates the
output Y can be written in terms of inputs A and

Bas

Ae C

Be [ > Y
>

() A.B+A.B

(2 A.B+A.B

(3 A.B

(4 A+B
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109.

110.

111.

(47 + 4-7) kQ Wity & Foreht Sreq-gfcligs W/, T8gaH
% foru, fafir quit 3 aom siferd fope = € | vl w1
T A BT

(1) el — &0 — S - gTEa

(2) W — S — AR - =T T

(3) S — el — ATt — =id o1

(4) B AR — S — g

‘v’ FIEH Ficgehi 1 qg=, a8 J® 1 gy
‘R 8, ooftspm W fa.a1.sd (emf), ‘B’ 3R 3r=afiish
yfedg, ‘R’ 1 forell et & EAfm & | 90 & & T8
g I 8 | 316§ ‘n’ JfaQeehi 1 Uwd A § 3EH S
T gafad foram ST R | @ S Bt S w10 1@
Tt ] | ‘n’ BT HAH B

(1 20
2 11
3 10
4) 9

g St 3rmaftes gl ¢ a1e, Fofishd ¥ T,
TdoH Al (T n ufEdt 2) ¥ R R 1 9l %
Tt 1 AR e 9 [ W g 7 | T
HH-AT U6 1 3R n & o= 9 a9y h gtar § ?

I
(D Tf
O —n
I
(2) f i
0 —n

O —n

1
4) f

O —n

109.

110.

111.

A carbon resistor of (47 + 4-7) kQ is to be marked
with of different
identification. The colour code sequence will be

(1)  Yellow — Green — Violet — Gold

(2)  Yellow — Violet — Orange — Silver
3)
4)

rings colours for its

Violet — Yellow — Orange — Silver
Green — Orange — Violet — Gold

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is L.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1) 20
(2 1
(3 10
4 9
A battery consists of a variable number ‘n’ of

identical cells (having internal resistance ‘r’
The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I
w 1 /
0] —n
I
(2) T
0 —n

each) which are connected in series.

I

@
O —n
I

4) f
O —n
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112. 3@ ¥ T AR SHa18 h & =9Rfgd g & o7f¢er[112. A body initially at rest and sliding along a

R a7aEen § T ITeT S fve, =8 AB = D % glictif(znless) t.ractk fromlat height ht‘(as1 shov&in ir}
o e figure) just completes a vertical circle o
HEATEX I I -3k U T 7 | T Ha1g h gl diameter AB = D. The height h is equal to
B
B
h | h .
| : | |
A A
@ Ip 7
5 (1) E D
3
3) =D 3
@) 9 3) ED
@ >p 5
4 4) ZD
113. I fivg, A (T Bl Tﬁ?ﬂ)v B : (T IE'IEi d71h| 113. Three objects, A : (a solid sphere), B : (a thin
FHdt) qA C : (Th JARR Bgl), W g3H * circular disk) and C : (a circular ring), each have
e M a1 Bsen R 2, 99 I =1 o § 319 the same mass M and radius R. They all spin
Tufifer s1ell % aid: T @ § | 5 R i with the same angular speed » about their own

AN % foru fRu I 910t TEwEe wET (W) % R symmetry axes. The amounts of work (W)

required to bring them to rest, would satisfy the

PIH-HT FeH T E ? relation
(1) Wp>W,>Wg (1) Wp>W,>Wg
(2) Wp>Wg>Wg (2) W >Wg>Wg,
3) We>Wg>W, ) Wg>Wg>W,
(4) Wpo>We>Wg 4) Wu>We>Wp
114. FSrfafad o @ S S99 H@T £ 2 114. Which one of the following statements is

T R incorrect ?
@) o< & il q 2 (1) Frictional force opposes the relative motion.

2 wifdew odu w1 Hu=a e rfiers afafsn & @)

Limiting value of static friction is directly

WHW'FT B R | proportional to normal reaction.
(8) drefeh = |l =vur § A BaT @ | (3) Rolling friction is smaller than sliding
(4) |df =9 qoiek i foAmd s o W wmE friction.

Bt 8 | (4) Coefficient of sliding friction has

dimensions of length.

115. G99 m T T Tsfied [eehl, 4m goom™ o foreht
e R e & "oz a1 @ | HUg % UvE, goohl

115. A moving block having mass m, collides with
another stationary block having mass 4m. The

et ferm srereer 1 S % | e & Jeeh = lighter block comes to rest after collision. When
SRR o7 v &, 1 TeaHg Tk (e) <l I BT the initial velocity of the lighter block is v, then
(1) 08 the value of coefficient of restitution (e) will be
2 025 1) 08
4) 04
@ (4) 04
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116.

117.

118.

119.

Toret wafer fguar w1 3w foreft Tt i i Aot &
IS 39 H o forw fopam a7, foem Ay wey
I TS I Uiad! e grT aHTEifeTa foRam ST deha
21 27°C &y 9 W WY I a8 20 cm 3N
73 cm B W g HUFTA TG 399 B 8 | Al waf
g &1 IERT 320 Hz 7, @1 g § & & 27°C W
an g
(1
(2)
3)
(4)

A Q % foreft foged waT=m dfgent wenfer ¢ &
&% A 9Tl g <l ufgemiati & o fRR-Ggd 9o
(1) ufgati & = 6 g & A 6 SFIHAI]
A1 8 |

afgehiatl & &= Al gl o ashd: STIHATIA
a1 E |

(3) ufgehrait & i A gt W it 7 e |

(4) dfgraTt < o= hi gft % AT BT B |

HIS ATH Th Bl Hd W H T § AH 8 1R
W MEd aleish hi Aifd gad &9 F WA i
w e | e feufd & 5 m g W Ee Mes w

T 20 m/s2 @ | I h1 STEdehld &

(1)
(2)
3) 2ms
4) 1s

HI3 soldel formmaEen @ fRet ThEm™ qum SR H
Feate fogq-49 E 8 ®E § 18 g, h, a1 2 | s
fagd-am 1 ufor sfafdd w@d g e foun
Iohitd L & STt 7 | foRelt et W fermrercen @
31 & Seatat gt h 7% 39H fRA fen Sman 2 | e
% fire o forw 7o g < qorn # gore g i d
o o wH B

(1) 10 7T AfesR

(2) 57T 31fereh

(3) 9

(4) TEE

350 m/s
339 m/s
330 m/s
300 m/s

(2)

2s

mSs

116.

117.

118.

119.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 350 m/s
(2) 339m/s
(3) 330m/s
(4) 300 m/s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(D

proportional to the square root of the
distance between the plates.

(2) to the distance

linearly proportional
between the plates.
3)

independent of the distance between the
plates.

4) to the distance

inversely proportional
between the plates.

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

1) 2s
(2) ms
3)
(4)
An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of

fall of the electron, in comparison to the time of
fall of the proton is

(D
(2)
3
(4)

2n's
1s

10 times greater
5 times greater
smaller

equal
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120.

121.

122,

123.

AR ATV = Vol (Vg > 0) 3R ZH m
w1 W W B BEReT B - - By |
(B = e > 0) H t = 0 T Yoz a1 2 | Al Joew
# 30 goidgH hI ISl almeed 4y B, @ §WE ¢ W
FahT sl st Bt

(1)

(2)

3

(4)

foreft Ifeamufaea werd i ard-amy 10 fime 3 | 3l
AT | ifirenl i H&I 600 B, A1 450 TRl
forafea g9 o o aren T (e ) 2

(1) 30
(2) 10
3 20
4) 15

S foret a1 % Y50 W STER 2v, (JE v, gt
TR B) 1 TN STTUAH hidl &, d1 IcdfSid el
1 AfUHRaT I v, 7 | F9 Uaa fafhwn i SR
TG bvy, G A 7, A I g8 " I
sﬁﬂaﬁaﬂﬁwéﬂ%@m%lﬁaﬁ%w

EGRIE

(1) 4:1
2 1:4
3 1:2
4 2:1

gIggoH T 1 TRt S when # fopet g <Al
TS Foll S IThT Hd Hofl 1 AT Bl B

1 2:-1
2 1:-1
3 1:1
4 1:-2

120.

121.

122,

123.

An electron of mass m with an initial velocity
;; =V, /1\ (Vo > 0) enters an electric field
}_E> =— Eoli\ (Ep = constant > 0) at t = 0. If A is
its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is

D) At

@ A (1+ eFo tj

mVO

Mo

1+ eEo t
rnVO

Ao

3

4)

half-life is
10 minutes. If initially there are 600 number of

For a radioactive material,
nuclei, the time taken (in minutes) for the

disintegration of 450 nuclei is

(1) 30
(2) 10
3 20
(4) 15

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is vy. When the frequency of the incident
radiation is increased to 5v,, the maximum
velocity of electrons emitted from the same plate
is vy. The ratio of v; to v, is

1) 4:1
(2 1:4
3 1:2
“4) 2:1

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

1 2:-1
2 1:-1
3 1:1
4 1:-2
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124, F7é R b @ et mem H A V < v @

T w3 | R e gu fagg-grade atr @
foga-am 9o +y oW F ofewm B | d@
forga-grashia Tl o FEeehid & g ohi fewm Bl
(1) —yfam

(2)  +zfaam

3) —zfem

(4) —xfem

125. et TS5 o qard 1 staadies /2 3 S50 1 &iv

30° ¥ | fem & @ omads gst § @ uw W =i
TeTeRt i 1 T I AR T 2 | G HAE |
TOST T I ThaUT JeRTeT W1 his G (U1 aTel I8
T WEfdd g & 9vErq) 36 99 W G99 et ST,
afe fsw W T o 1 9 2

(D
(2)
(3)
4)

30°
45°
60°
A

126. et 9% 8 60 mA 1 9N JaTfed T T 38 Wk §

Gfea greshi feafast it 1 91 25 md 3 | 30 I

T Tehed 3

(1) 1-389H
(2) 13888 H
(3) 0-138H
(4) 13-89H

127. %15 fora 15 cm B g & fRel saqa g &

40 cm g W @ 7 | AfQ 39 forw =61 gwr 7 oo o
20 cm TIFTARG X fen W, wfafers a5
T foeenfod & smem 2

(1) 30 cm TYUT & 9TH
(2) 36 cmi’ﬁ'ﬂ@&;{
3 30 cm?ﬁ'ﬂTﬁa;{
(4) 36 cm TYUT & UTH

124.

125.

126.

127.

An em wave is propagating in a medium with a
velocity ;)7 = V/i\. The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1
(2)
(3)
(4)

—y direction
+ z direction
— z direction

— x direction

The refractive index of the material of a prism is
V2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence
on the prism is

(1) 30°

(2) 45°

(3) 60°

(4)

Zero

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the
inductor is 60 mA. This inductor is of inductance
(1) 1-389H

(2) 13888 H

(3) 0138H

(4) 13-89H

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(1)
(2)
(3)
4)

30 cm towards the mirror
36 cm away from the mirror
30 cm away from the mirror

36 cm towards the mirror
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128.

129.

130.

131.

ﬁéﬁaﬁgwﬁ?mmq%ﬁmw
fog@-a9 E %mﬁ%ﬁaﬁmwﬁﬁiw
W IAHE B | T UHUE h AU H 9 q E &
ST ZHHT AT 0 H 6 m/s B W@ g | SH &0
forgq-g it feom Sowfg S G oA B | 5@ B F
AT § R I S HHUS deh Td Hidl Wl g | 0 &
3 THUE & s RgeiHr ®R & 3NEd 9 I 3NHd
1 SHATT: B

(1) 1m/s, 3:5m/s

(2) 1m/s, 3m/s

(3) 2m/s, 4m/s

(4) 1-5m/s, 3m/s
M HI 0 o frdl oo 3Md 951 ABC W m

TEATH T his sl FHATAR {2 2 | 39 91 o grft
3R hig @R ‘@’ T I @ | sdfeh &l a9 W o

T & U a 3 0 & o= Gy 8
A
2
a
0
C B
(1) a=gcosH
_ 8
@ a=an0
3) a= 2
cosec 0
(4) a=gtan6

foreft BT 3 3T 1 g g < =" H WA 0-001 em
JCUAHR AT B IS g H | & 99H hl A
5 mm 3R FAF M H I Tl TaA | 25 WA
IR 7 | 9 TR T § A I — 0-004 cm &, T 7ig
1 & I R

(1) 0053 cm

(2) 0-525 cm

(3) 0521 cm

(4) 0529 cm

a5 (2, 0, — 3) W HEA 5@ F =4 +5] _ 6k =
g (2, — 2, — 2) % 9i@: Tl g

(1) -7 -85 —4k

2 -—4i -] -8k

3) —8i-4j -7k

4 -71 -4 -8k

128.

129.

130.

131.

A toy car with charge q moves on a frictionless
horizontal plane surfatg under the influence oi)a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

respectively

(1) 1m/s, 35m/s

(2) 1m/s, 3m/s

3) 2m/s, 4m/s

(4) 1-5m/s, 3m/s

A Dblock of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 6
for the block to remain stationary on the wedge
is

A
2
a
m
C B
(1) a=gecosH
@2 a=-8
sin 0
3) a= 2
cosec 0
(4) a=gtan®

A student measured the diameter of a small steel
ball using a screw gauge of least count
0-:001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 c¢m, the correct
diameter of the ball is

(1) 0053 cm

(2) 0525 cm

(3) 0521 cm

(4) 0529 cm BN A N A
The moment of the force, F =4i + 5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
1 -7i-8j -4k
AN A A
(2 -4i-j -8k
A A A
8 -8i-4j -7k
A A A
(4) -7i-4j -8k
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132. et ot gro faferfa wifem P 2 don @' aoTeeA,

Ay T 3Tfeehan Hat fafeRla w3 | o AR =
ISR 1 A9 gREfia & fen s g, we 76 9

%xoa@ﬁzﬁmaﬁwwfﬁr&sﬁamé,a

3% g fafeplta wiferd nP &1 STl @ | n <1 7 &AM

256

(D 81

(2)

3

o w |

81

(4) 556

133. & X G g & §4 2 3 aFl o Ead ft gue

g | U8 TR I AIIEAFIE H &APA A 3T T AR
h1 IATRI-FE FH &TFA 3A & | IC 9a F AR
UE AR i AEETE H AL 1 glg hl I B, 91 gE AR
# T 7 oft saft @ 3fg FE F T fohad s@ R
SATEvIhAT BT 2

(1) 4F

(2) 6F

3) 9F

4) F

134. 99T € (1-013 x 10° Nm™2) 3R 100°C 99 T

0-1 g I % I &I 100°C ht 919 H giEfda w &
I 54 hell ST Holl I STEYIRAT BT & | AR
3O WY H AFAT 167-1 cc B, 9 39 THI H
F=eh Sl § qiEad &

(1) 4224J

(2) 20874J

(3) 104-3J

(4) 845J

135. =3 < 1 g oy e formreeen & fopet v ga

fikar 8 | o9 o1 % HRU A ST 39T BT B |
M & Sifm (efilFd) a9 | 3oqa o= @il

fr=fafaa & & foraeh SpATUT Bret B 2
(D P
@ 1
3)
@ 1t

132.

133.

134.

135.

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength % Ao, the power radiated by it

becomes nP. The value of n is

256

1) 22°
(D 31

(2)

3

oo |

81

(4) 956

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 4F
(2) 6F
3) 9F
4 F

A sample of 0-1 g of water at 100°C and normal
pressure (1:013 x 10° Nm_z) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 42-2d

(2) 208:7J

(3) 104-3J

(4) 845J

A small sphere of radius ‘r’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

(D r5
@2 1
3)

I‘3
4 r*
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136.

137.

138.

139.

ffafiga foe@at = NaOH twd HCL i fig-fim
Hrgdrsli U 3Tl o {90 & s9mn T B

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL iVI—O HCI + 100 mL ivI_O NaOH
0 ¥ fohgert pH, 1% SR 81T ?

(1 d

(2 a

3 b
4) c

frfafead & @ F9-8 0 | WA H Thed aHa
it wedft 2 2

(1) 3T % 37199 9T Td 37 forg aFi ©

(2) had ATE & IHR T

(3) hacd IR % A IRHATT T

(4) o IR & AT g |

BaSO, #1 298 K W 5a # faerar 2-42 x 1073 gL ™!
@ | fotear QU (K, ) <1 HH g

(feam T 8 BaSO,, 1 #ieR e9WH = 233 g mol 1)
(1) 108 x 107* mol® L2
(2)
(3)

(4)

108 x 1072 mol? L2

1-08 x 10719 mol? L2
1-08 x 10 mol% 1.2

NH,, H,, O, @1 CO, % fdu aret arcd feere
HAN: 4-17, 0-244, 136 ©d 359 feu wuw ¥ |
F=fafiad @ 9 9 T w99 s ¥ glag 8 S
77
@h)
(2)
3)
4)

0Oy
H,
NH,
o,

136.

137.

138.

139.

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60mL M HCI + 40 mLL M NaOH
10 10

b. 55 mL E HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
(1) d

(2) a
3 b
4) ¢

On which of the following properties does the
coagulating power of an ion depend ?

(1) Both magnitude and sign of the charge on
the ion

(2) Size of the ion alone

(3) The magnitude of the charge on the ion
alone

(4) The sign of charge on the ion alone

The solubility of BaSO, in water is

2:42 x 107 gL_1 at 298 K. The value of its
solubility product (Ksp) will be

(Given molar mass of BaSO, =233 g mol 1)

(1) 1-08x 107 mol® L™
(2)
(3)

4)

1-08 x 102 mol® L2

1-08 x 10719 mol% 1.2

1-08 x 10~° mol® L™
Given van der Waals constant for NHs, H,, Oy
and CO, are respectively 4:17, 0-244, 1-:36 and

3-59, which one of the following gases is most
easily liquefied ?

(D
(2)
3
4)

LAACH/RR/Page 31

TF T o T8 UM / SPACE FOR ROUGH WORK e

India’s largest Student Review Platform



140. 39 3fufspan 140. In the reaction

OH O Na* OH O Na*
@ + CHClg + NaOH ——> @ CHO @ + CHClg + NaOH ——> @ CHO
T gftferd soiereieig! 8 the electrophile involved is
(1) SEFARMIS FROmRA (%)H012) (1)  dichloromethyl anion (CgHClz)

(2) ifdd gARA (((?HO ) (2) formyl cation ((CEHO )

@
(3) SRFANHIS ¥R (CHCly)
(4) eSEFARBEE (:CCly)

@
(3) dichloromethyl cation (CHCl)

(4) dichlorocarbene (:CCly)

141. % 7 g 3 141. Carboxylic acids have higher boiling points than

A tfeeaiget, HieH qe 7El ah b Uehieredl § aldehydes, ketones and even alcohols of

IR B & | T8 ToRdeh SRV BT B ? comparable molecular mass. It is due to their

(1) ratfFarers Tl 1 3% =TI W et (1) more extensive association of carboxylic
e e gl s i A 2 acid via van der Waals force of attraction

S (2) formation of carboxylate ion
@ 3 (3) formation of intramolecular H-bonding

(3) SA:3MUeh BIEGISH &g & & (4) formation of intermolecular H-bonding
(4) STUATTIH EESSH q67 a4 I
142. Compound A, CgH,,0, is found to react with

NaOI duced b, ting Y with NaOH) and
142. T AfiF & A, CgH,,0 51 75 NaOI (Y #r arfirfeam 201 (produced by reacting Y with NaOH) an
yields a yellow precipitate with characteristic
NaOH ¥ & /™1 ) § Afufshan ik enefiren smell.
T4 Tl it 318y 2aT ® | A and Y are respectively

A I Y AT B

1 CH - CH; 3R I (1) CH - CHj and I
m e 3 S a gandlp
OH OH
@ ¢ ) CH,-CH,-OH 3R, @ ¢ ) CH,-CH,-OHand,

3 HyC— ) CH,- OH 3L, 3 HeC— ) CH,-OHand1,
CH, CH,
4) CHy G OH 3 1, 4) CHy G OH and I,
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143.

144.

145.

146.

T T o= (X) ¥ ATk W T I
Aifies s 7| A (X)) w1 Feam oremenm #
3@?{7‘&@%7&1'{1 152 2g2 2p3%,?ﬁ3'€-f?ﬁ'ﬁ'ﬁ?ﬂ
W ga 7
(1) MgyX
(2) MgX,
(3) MgyXy
(4) MggX,
SITRA <t HHL & q9 W bee T It 8 | 900°C &

FW Tg fec BT H ufEfdd 81 Il B | A & W
% 9 W TFed T 900°C A9 W Hed | 3TUTd &R

(WM TRIT TR 1 AieR GeImH T T B ard
% @y feer 8)

343

42

443

(D

(2)

3

(4)

“= it 2]

fr=feafiga @ @ S59-a1 S wrwew B 2
(D

PO g
Tsh hefeh o Fared gemet 4 fifds § wefe
Th QY] H UH geEgE IR FEied el 8
fféz 2 |
‘s HeIh T oG P HA hHelh IV FaT
I h TR 2 |
4) d 2 % f m % AH YA B |
Freafefea wfiefier @ foem Hifs -

CN*,CN~, NO da1 CN
T ¥ frad S=au ey Hife 7 2
(1) CN*
(2) CN~
3) NO
(4) CN

(2)

3

143.

144.

145.

146.

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 15 252 2p3, the simplest
formula for this compound is

(1) MgyX

(2) MgX,

(3) MgyXs

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fcec structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

33

442

3

(D

(2)

6))

it 25

4)

Which one is a wrong statement ?

(1)

N |

The electronic configuration of N atom is
1s2 252 2p)1( 2p; 2p;

o LY

An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(2)

3

Total orbital angular momentum of electron
n ‘s’ orbital is equal to zero.

4)

The value of m for dZ 9 is zero.

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) CN*
(2) CN~
(3) NO
(4) CN
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147.

148.

149.

150.

151.

152.

CIF; &l &A1 H g T ‘ClP W THIER IH
FAFET <hl T B

(1) =X

2

3) Th

(4) o=

frafafaa # @ 7 13 & o=l § wTfoges Brsamatt @
HIF-A1 9 Tl 7 ?

(1) B<Ga<Al<Tl<In

(2) B<Al<Ga<In<Tl

3) B<Al<In<Ga<Tl

(4) B<Ga<Al<In<TI

Nfehi § $Teh! ST SFEATAT T = g3
e F 8

(1) HNOg, NH,CI, NO, Ny

(2) HNOgz, NO, NH,CI, Ny

(3) HNOg3, NO, N,, NH,Cl

(4) NH,CI, Ny, NO, HNOg

freffigs # & wHE aw MFZ‘Wemﬁﬁ
e g 2

(1) B

(2) Al

3 Ga

4) In

el % fou f=fafea & & SF-a1 om0 7577
77
(1) wOH & e wff  gareHe SAfeie
FFareTd g 3 |

aft Sffedienres Afiende & |

(3) weft ket TR TR} ST S F |

(4) FARIA <l TETieh Soidei= Ugu Tt 7 |
e s@ ® wH # Wd gu fefafed & @
HAH Grg H IFAN UGk STg=RE § feRam o
AT & ?

(1) Mg

(2) Zn

(3) Fe

4) Cu

(2)

147.

148.

149.

150.

151.

152.

In the structure of C1Fg, the number of lone pairs
of electrons on central atom ‘CI’ is

(1)
(2)
3)
4)

four
two
one
three

The correct order of atomic radii in group 13
elements is

(1) B<Ga<Al<Tl<In
(2) B<Al<Ga<In<Tl
3) B<Al<In<Ga<Tl
(4) B<Ga<Al<In<Tl

The correct order of N-compounds
decreasing order of oxidation states is

(1) HNO,, NH,CI, NO, N,
(2) HNO,, NO, NH,CI, N,
(3) HNO,, NO, N,, NH,CI
(4) NH,CI, Ny, NO, HNO,

in its

Which one of the following elements is unable to
form MFg' “ion ?

(1) B

(2) Al

3) Ga

4) In

Which of the following statements is not true for
halogens ?

(1

All but fluorine show positive oxidation
states.

(2)
3
(4)

All are oxidizing agents.
All form monobasic oxyacids.

Chlorine has the
enthalpy.

highest electron-gain

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

(1) Mg
(2) Zn
3) Fe
4) Cu

LAACH/RR/Page 34

TF T o T8 UM / SPACE FOR ROUGH WORK e

India’s largest Student Review Platform



153.

154.

155.

156.

157.

et afifsran

MnO, +Cy05 + H* — > Mn2* + CO, + Hy0
% o wgfer Tl 3 R sfere % w8 s
2

MnO; C,07- H'
L 2 16 5
2) 2 5 16
3 16 5 2
4 5 16 2

srfufsran & f=fefaa & @ - e s1feaw 3care
fomfor % foe sTeert 7,

Ay (g) + By (g) = X, (g)
3= d¥ U9 3 <«

=7 a9 wd = T
1 a9 v 3= T

3= d9 g 1 T

AH=-XkJ?
1)
(2)
(3)
4)

3MTest g THieRoT | e Ui ‘o’ Tefd 8
(1) | 3Rt & Ae Iufeyd fagq-a9 @
(2) 79 3Rl % TIGH ¥

(3) T A % T

(4) T U % ALY ATHYV TAl

& AR h1 TR A5l =l AT R ST 2,
Tl I Hife AR o foTq 7¢-317 A

(1) o g 8

(2) A8

(3) aTem Brm B

(4) NEfdd & 3

Xy, Yo 3R XY I 7wy foRioH Sleti & Fuma

1:05:1 8% | XY & fw=a i e
AH = — 200 kJ mol™! 2 | X, &l ey foritem it
gt

(1) 800 kJ mol ™!

(2) 100 kJ mol™!

(3) 200 kJ mol !

(4) 400 kJ mol !

153.

154.

155.

156.

157.

For the redox reaction
MnO; +Cy0%” + H'—— Mn®" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07~ H'
1 2 16 5
2 2 5 16
3 16 5 2
@ 5 16 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (g +By(g) = X5(g) A H=-XkJ?
(1)
(2)
(3)
(4)

High temperature and high pressure
Low temperature and low pressure

Low temperature and high pressure

High temperature and low pressure

The correction factor ‘a’ to the ideal gas equation
corresponds to

(D

electric field present between the gas
molecules

(2)
3
4)

volume of the gas molecules
density of the gas molecules

forces of attraction between the gas
molecules

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1)
(2)
3
(4)

is tripled
is doubled
is halved

remains unchanged

The bond dissociation energies of X,, Y, and XY
are in the ratio of 1: 0-5: 1. AH for the formation
of XY is — 200 kJ mol™l. The bond dissociation
energy of X, will be

(1) 800 kJ mol*
(2) 100 kJ mol™*
(3) 200 kJ mol*
(4) 400 kJ mol*
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158. Hicm I ¥ fu MU 1q A 1 wiew II § fau mu|158. Match the metal ions given in Column I with the
AT % SR W wﬁ g fiemee qon spin magnetic moments of the ions given in

@gt Goha 1 Fifése hifu ; Column II and assign the correct code :
— w11 Column I Column I1
. Co* i. 8 B.M.
a.  Co™ i V8 BM o ' o
b. Cr”" ii. /35 B.M.
b Cr* ii. 35 BM. § " e
c. Fe’" iii. 3 B.M.
c. Fe** iii. /3 B.M. , -
d. Ni*" iv. 24 B.M.
4. NiZ¥ iv. V24 B.M. ' v
\/ﬁ B.M V. \/E B.M.
V. M.
a b c d
a b c d
. . .. 1 iv i ii iii
1) iv 1 11 i1
. .. . (2) i ii iii iv
2 i ii iii iv
. .. . 3 iv v ii i
3) iv v il i
. . (4) iii v i ii
(4) 1iii v 1 11
. . 159. Which one of the following ions exhibits
159. F=fafed & & $H-A1 3T d-d HHAT GG @ qe d-d transition and paramagnetism as well ?
HJIrelehcd ? _
w H (1) MnO,
(1) MnO, B
: 2) Cry02
2—
(2) CryO B
= 3 Cro?
2
3 CrO B
: 4) MnO?
(4) MnO>"
) 160. The type of isomerism shown by the complex
160. HFHA [CoCly(en),] G Y&fRid FHTEFAT I THK @ [CoCly(en),] is
(1) AT GHIEISdT (1) Tonization isomerism
(2) SUHEEHISH GHTIIST (2) Coordination isomerism
(3) SATHd FHE=ed (3) Geometrical isomerism
(4) SUN FHE—Ed (4) Linkage isomerism
161. [Ni(CO),] ¥ & wfufy wa grashia o7 § 161. The geometry and magnetic behaviour of the

(1) ot awdelt sarfifa wd Srqgrah complex [Ni(CO),] are

(2) TqTHAHR SAUTT TF Tfagrachi
(3) ol wwHael sfufd ud wfagreshia

(1) square planar geometry and paramagnetic
(2) tetrahedral geometry and diamagnetic

(3) square planar geometry and diamagnetic

4) W anfufd :ﬂw (4) tetrahedral geometry and paramagnetic
162. 3T HETe, Fe(CO)s 8 162. Iron carbonyl, Fe(CO)y is

(1) Frergs (1) trinuclear

(2) THHGH (2) mononuclear

(3) Tqhhoh (3) tetranuclear

(4) Tghgs (4) dinuclear
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163.

164.

165.

166.

vo i wa g wife stfifmensti & &t faftrmn 2
(1) 9w it =t rfufsran o1 safa foram S wepan
2; fecfra =ife < srfefspen =1 S ==& foma
Tehel B

99" whife s Sffshan <hl 3783 (Al W i
T #; faha wife i arfufipan Hr adamy (A
W el R

gom Hife i srfufkar &1 v IfERE &
grgaret | el & war g; fgdflw wife i
Al o1 a1 SAfierRes i Frgarett W At
1 &

g Hife H Ak w1 A Afwrs H
Trgaratt W At wtar g; g ife s stfefsean
1 3T 3fpRes i Fgarett | & S
3

CaH,, BeH,, BaH, # 3T Whid &I %7 3

(1) BeH, < BaH, < CaH,

(2) CaH, < BeH, <BaH,

(3) BeH, < CaH, <BaH,

(4) BaHl, <BeH, < CaH,

Jra feu U e ®, s hr et StaEen #
itera fafie faar. o (emf) AFT W g0 TR

- 182V - 15V
BrOy — BrO3 —— HBrO

(2)

3

(4)

Br <T0es2v B2 “1hesv
H-E TS STEHTIe 8 T 7 2
(1) Br,
(2 BrO;
(3) BrO;
(4) HBrO

forer feufa o wra1 & arupedi <h1 wwea siftrehan 8 2

(1) 1atmTd 273 KW 0-00224 L e 959 & forw
(2) 018 g9 & forw

(3) 18 mL ¥ & foIw

(4) 1073 ¥ 5 = oI

163.

164.

165.

166.

The correct difference between first- and

second-order reactions is that

(D

a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

the half-life of a first-order reaction does not
depend on [A],; the halflife of a

second-order reaction does depend on [A]

(2)

the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

3

the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

(4)

Among CaH,, BeH,, BaH,, the order of ionic
character is
(1) BeH, < BaH, < CaH,

(2) CaHy <BeHy < BaH,
(3) BeH, < CaH, < BaH,
(4) BaH,; < BeH, < CaH,

Consider the change in oxidation state of

Bromine corresponding to different emf values as
shown in the diagram below :

_ 182V - 15V
BrOy — BrO3 —— HBrO

Br

«— B
10652V 2 1595V

Then the species undergoing disproportionation
is

(1
(2)
3
4)

Bry

BrO;
Brog
HBrO

In which case is the number of molecules of water
maximum ?

(1) 0-00224 L of water vapours at 1 atm and

273 K
(2) 0-18 g of water
3)

(4)

18 mL of water

1072 mol of water
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167. Frfafan # & frm o & T & ot % TEE §

sp?, sp?, sp, sp HeHIIT ST ST & ?
(1) CH,=CH-CH=CH,
(2) CH,=CH-C=CH
(3) HC=C-C=CH

(4) CHy;-CH=CH-CH,

168. ffaflgd # @ S99 wEyIE Taifes Tari
aufea g 2

NO,
Y &
NO,

Y H

NO,
®

H

Y

NO,

169. Frfafga § @ ufoworwei & -1 wwe & el #
Hi-a1 & & ? (R = )

(1) -NHy;>-OR>-F
(2)
(3)
(4)

s

(D
(2)
(3
(4)

o

—-NRy<-OR<-F
-NH; <-OR<-F
—-NRy>-OR>-F

167. Which of the following molecules represents the
order of hybridisation sp2, sp2, sp, sp from left to
right atoms ?

(1) CH,=CH-CH =CH,
2)
(3)
4)

CHy=CH-C=CH
HC=C-C=CH
CH3;-CH =CH - CH;

168. Which of the following carbocations is expected to

be most stable ?

H

I
Q
.

NO,
&
Oy
Oq
®
H

Y

NO,

Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) -NH;>-OR>-F
(2)
(3)
(4)

o

o)
(2)
(3
4)

<

169.

—-NRy<-OR<-F
-NH,; <-OR<-F
—NRy>-OR>-F
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170. Fefafaa sifufsen »f@en # 7= 3@ P, Q 3R R

171.

%! TEATHT :
AIC,
@ + CHyCH,CH,Cl ———5—»
M 0,
———2 __>Q+R
(ii) Hz0*/A
P Q R
CH(CH,), OH
1) @ CH,CH(OH)CH,
CH,CH,CH, CHO  COOH
HelNeNe
CH,CH,CH;  CHO

(3

OH
CH(CH,),
) @ CH, - CO — CHy

fafafiga @ @ w9 Afe Cacema a9 g%ar
2?

(1)
(2)
3
(4)

TS 3T
LIRS
LUERIE
TATSHA

170. Identify the major products P, Q and R in the

171.

following sequence of reactions :

Anhydrous

AIC,
@ + CHzCH,CH,Cl ———=—

(1) Og

P——>Q+R
(i1) H3O*/A

P Q R
CH(CHy), OH
(D @ CH3CH(OH)CH;4
CH,CH,CH; CHO  COOH
HelNeNe
CH,CH,CH;  CHO
(3) @ @ CH,CH, - OH
OH
CH(CH,),
@) @ CH; - CO — CHj

Which of the following compounds can form a

zwitterion ?
(1) Benzoic acid
(2) Acetanilide
Aniline

3

(4) Glycine
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172.

173.

174.

175.

AMfieh A 1 Na & 1RIfshan @@ W a8 B ad1 & 991
PCl, % @1 Tffha F@H WA C a2 | BW C
A1 f Ty § rfufr e W osETie e ar

BaT2 | A, BANMCHA T
(1) C,H;Cl, CyH,, C,H;OH
(2) C,H;OH, C,H,Cl, C,H;ONa
(3) CyHLOH, CyHy, CoHCl

(4) C,H5OH, C,H;ONa, CoHCl

BIEgIhEA (A) S & gfaead= grr 3Tfrfshan oteh
% Uoha SmEE o @ S fR 9w srfufean g
et gregrpre # ftafda grar @ foem f6 =) @ @m
e T § | (A) 7

(D
(2)
3
4)

ws i C,H, Frfafea sifufranstt & o 2

CH; - CH;4
CH, = CH,
CH=CH
CH,

3Cl,/A Bry/Fe _ 7Zn/HCI
CHy —2—>A—2 >B= C

3G ‘C’ R

(1)  3-5MI-2,4,6-EFANITE

(2)  o-SIHIRIAEH

(3)  m-SHEIAEA

4) p-@"ﬁﬁ@i‘—l

IS | Yhfd Td #a fshansti gHi @ fAfia Tmsgem
T HH-HT ATFTES TTETT Ygoh 757 8 2

(1) Ny0

(2)
(3)
(4)

NO,
NyO5
NO

172.

173.

174.

175.

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,HsCl, CoHg, C,H;0H

(3) CyH5OH, CoHy, CoH5CI

(A) by
substitution to form an alkyl bromide which by
Wurtz to
hydrocarbon containing less than four carbon

Hydrocarbon reacts with bromine

reaction is converted gaseous

atoms. (A) is

() CH;-CH,

(2) CH,=CH,

(3) CH=CH

(4) CH,

The compound C;Hg undergoes the following

reactions :

3ClL,/A Br,/Fe 7n/HCI
2L A2 i C

7Hg
The product ‘C’ is

(1)
(2)
3
(4)

3-bromo-2,4,6-trichlorotoluene
o-bromotoluene
m-bromotoluene
p-bromotoluene

Which oxide of nitrogen is not a common
pollutant introduced into the atmosphere both
due to natural and human activity ?

1) N0
@)
3)
4)

NO,
N,Oj
NO
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176.

177.

178.

179.

180.

foeieh og s19a STeTshA Sgerehi o &g | frfafaa A
Y HI9-G1 YT T 8 ?

(1) dehalTse T HAH 39 ISTE 3 |

(2) A fgfsrarcnss wa Ffsharcns gl % Thaeh o
T4 B |

T faftm W sgas gEest % W
UEEASTh WY Bd @ |

T Tgh P § YO TEEANh A
AR |

ffafiga @ @ F-H e i Taifus sl
Thd B ?

(1) BaO

(2) BeO

(3) MgO

(4) CaO

el 1 AR Yed AT WeEm WO W
m-TEEINeA ot SATar ] ifen

(1) wfeemuss 1 orufeafs § g wgg AN
m-fefq ST 2

soagEE wfaeemgq eifufsean # Wi g
m-Fese 2

gfereeme i Jufeufy % Sraeg A1Eer @uE gAW
haet m-feafa & ST 2

I (eet) "ew § Ui ueitem s
ERCR: R i

2:3 g Wil TTA qAT 4-5 g ST 3TFA I TG
H,S0, & T3 am w 3cafsia e fasmor st KOH
% BIC el ¥ TAMW Il 2 | STP W 5+ 3T I9]
1 9 (g #) BIM

1) 28

(2 30

(3) 14

4) 44

Ut e Ui 7 fafiear 3

(1) Ufeiufeed § 1 - 4 o-997 97 1 — 6 B-9¢ B
(2) UWEEd 154 997 dda 1 —> 6 B-9EF 7

(3) Ueufdedd1 »> 4 a9 dAT 1 - 6 o947
H
BRI RS AR R Crat R AT

3

4)

(2)

3

(4)

(4)

176.

177.

178.

179.

180.

Regarding cross-linked or network polymers,
which of the following statements is incorrect ?

(1)
(2)

Examples are bakelite and melamine.

They are formed from bi- and tri-functional
monomers.

They contain covalent bonds
various linear polymer chains.

3

between

(4)

They contain strong covalent bonds in their
polymer chains.

Which of the following oxides is most acidic in
nature ?

(1) BaO

(2) BeO

(3) MgO

(4) CaO

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(1) In absence of substituents nitro group
always goes to m-position.

(2)

In electrophilic substitution reactions

amino group is meta directive.

6))

In spite of substituents nitro group always
goes to only m-position.

(4)

In acidic (strong) medium aniline is present
as anilinium ion.

A mixture of 2-3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

(1 28

(2) 30

3 14

4) 44

The difference between amylose and amylopectin
is

(1)

Amylopectin have 1 — 4 o-linkage and
1 — 6 B-linkage

Amylose have
1 — 6 B-linkage

(2) 1—->4 o-linkage and

(3) Amylopectin have 1—4 o-linkage and

1 — 6 a-linkage

(4) Amylose is made up of glucose and

galactose
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Awferaa 13351 &7 @ g -

1. I8 IH W e wheneff, fleres @i o1
SENRERECl

9. efers 1 Frlees i foo orqufa & fomm
T gieqrelf 39T T 9 BiS |

3. HRENG e 1 3o IR 97 fou fomn @@
Jufeufa. o W gam gEarer fope fomm i
wienedl wlen @ & wen | At Tt
Tigeff 7 gEd 9R SuieafauEme W
TEAER T Tohy A1 9 W e R S
3T U A& AT § SR Ig Araa aned
T WTHSAT HIFT TG |

e o o [N«
4. SAFCIHh/[ETHTAd TlLeheTeh bl IUINT JIS(d

2 |

5. JOTE | =R o foru ghemeff udem <
fmi e fafEm g FEha § 1 sEa
e o afi el w1 %Een 3| wie &
fremi wa fafemi o orgam g |

6. Torelt off g o wem gieaeht TR S W
T g W AT 7 . |

7. 9 gieashrER U # feu mu ulen gicae
Tohd bl wdierrefi wEt ok & Sufedfa o o
forg |

Read carefully the following instructions :

1. Each candidate must show on demand his/her

Admit Card to the Invigilator.

. No candidate, without special permission of

the Superintendent or Invigilator, would
leave his/her seat.

. The candidates should not leave the

Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

. Use of Electronic/Manual Calculator is

prohibited.

. The candidates are governed by all Rules and

Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as
per Rules and Regulations of this
examination.

. No part of the Test Booklet and Answer Sheet

shall be detached under any circumstances.

. The candidates will write the Correct Test

Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.
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